Togefher we can make math easier

- /
: . - e

Final Revision
Solic] Geometry

Choose the correct answer
The number of straight lines passes through two distincts points is <«

(a) zero (b) 1 (c)2 (d) infinite number.
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n Togefher we can make math easier
Choose the correct answer /

The number of planes passes through three collinear points is

(a) 1 (b) 2 (c)3 (d) infinite number.
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n Togefher we can make math easier
Choose the correct answer ohe m&'. '96

If A » B and C are three points determir@)lane s then
(@) AB + BC=AC (Collindl (b) AB — BC = AC

() AB + BC <AC (d) AC <AB +BC

A
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n Toge#;er we can make math easier

Choose the correct answer

All the following cases determine a plane except -«

(a) a straight line and a point not on it. I

(b) two districts straight lines. /

(c) two intersecting straight lines and not coincident.

(d) two skew straight lines.
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“ Toge#;er we can make math easier

Choose the correct answer

Any three non-collinear points determine -

(a) a plane. (b) two planes. (c) three planes.  (d) four planes.
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n Togefher we can make math easier

Choose the correct answer

The number of planes passes through two parallel distinct straight lines =

(a) 1 (b) 2 (c)3 (d) infinite number.
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Togefher we can make math easier
Choose the correct answer *\'Wﬁa . (\73'0'*\ -

The least number of planes that determine a solide is
_—

(a)3 (b) 4
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n Togefher we can make math easier

Choose the correct answer

The skew lines are
(a) parallel. (b) intersecting.

(¢) coincident. (d) not contained in one plane.
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n Togefher we can make math easier

Choose the correct answer

The vertical straight lines in the space are
(a) parallel.

(c) intersecting. (d) contained in one plane.
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m Togefher we can make math easier

Choose the correct answer
Two planes are coincident if they sharing

(a) one point. (b) three collinear points.

(c) two points. . 5‘\' ,\‘w;b (d) three non collinear points.

r. Michael Gami Y| V012273 75 987


Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil




m Togefher we can make math easier

Choose the correct answer
Two non-parallel planes intersecting in a
e e

Rline segment. (b) point. ' ; (d) straight line.
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m Togefher we can make math easier

Choose the correct answer S5 \
The number of faces of a regular pentagonal pyramid is
C—N

(a)5 (b) 6

Q
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m Togefher we can make math easier

Choose the correct answer
X T - e

+ the number of its vertices — the number

In the hexagonal pyramid » the number of faces

of its edges = Q_

(a) 1 (b) 2 ()3 (d)4
., N

« pQC&S = NQ\M&C e L
y’)yeﬁ“gg,s NO\W\C < 1

edjes = Nawme XU
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m Togefher we can make math easier

Choose the correct answer
MABCD is a regular quadrilateral pyramid » its base of length 8 cm. and height 3 cm.

e

s then its lateral height =
() 3 ’ ©)5 (d) 8

H
3
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m Togefher we can make math easier

Choose the correct answer N Q ho -- Q =\
The perimeter of the base in a regular quadrilateral pyramid is 40 cm. and its height is 12 cm.

» then its lateral area =

(a) 200 (c) 260 (d) 320

)'SA : ';j(l? ’% base xS\ 2 2\
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n Togefher we can make math easier

Choose the correct answer
The length of the base in a regular quadrilateral pyramid = 10 cm » and its slant height
——

= 8 cm. » then its lateral area =

(a) 800 (b) 400 (c) 320 (d) 160

LSA=§‘_'@,o%b°.Sc LAY
= & (Ux) X B = fho—

Q
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Togefher we can make math easier

Choose the correct answer
The length of the base in a regular quadrilateral pyramid = its slant height

» then the ratio between its lateral area : its total area =

(a)2:3 (b)3:4 @©1:2

bs.A= 4l =2
TS.A. awf 3

LS.A
'T-'s.ﬂ

Q
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m Togefher we can make math easier

Choose the correct answer

The total surface area of a regular quadrilateral pyramid = 70 cm? »

and its lateral area = 45 cm? 5 then its height = ---oeooevee cm.
T

(2)2.5 (b) 5 (©)4.5 @14

TSA = LSA *bﬂ Q w2
70 4S + b.A | .
sz 29 w: Jus gt

&E:s =l —

@-%buse)( P L5

1

)

-é_— (UXSIN S.\. =S
S W- ':‘\-z— - .S

-
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m Togefher we can make math easier

Choose the correct answer

The volume of a regular quadrilateral pyramid in which the perimeter of its base is 36 cm.
and its height 10 cm. equals

(a) 180 (b) 270 (c) 360 (d) 810

P o Dase = 4 - 36
~ 4. 3

. A3 qude 472 (Q - B
\Jolume -

Q
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m Togefher we can make math easier

Choose the correct answer

The perimeter of the base of a regular quadrilateral pyramid is 24 cm. s and its slant
height 5 cm. » then its volume =
[=———m=

(a) 60

=5 (6 X I = g2
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m Togefher we can make math easier

Choose the correct answer

The volume of a regular pyramid is 12 cm? and its base area 4 cm?

s then its height = :
(a) 2 (c) 6 d)9

Uelume = Lo A H =2
H=\2

- 4
= 3
SH= 12

o

Q
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m Togefher we can make math easier

Choose the correct answer a —_ 22

f the length of the base in a regular quadrilateral pyramid has been doubled and its height
A e 4
remains constant then its volume

e

(a) will double. (b) will not change.

(c) becomes 6 times its original volume.

(d) becomes 4 times its original volume.

;Q/(d)x%
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m Togefher we can make math easier

Choose the correct answer 3“\“(,_

The diagonal of the base in a regular quadrilateral pyramide is 10/ 2 cm. and its height

—
C—

6 cm. » then its volume =

(a) 100 (b) 200 (c) 10012 (d) 20012
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m Togefher we can make math easier

Choose the correct answer

A right quadrilateral pyramid » its base in form of a thombus » the length of its side
= the length of one of its dlagonals 6 cm. » the height of the pyramid = 12 cm.

]
s then its volume =

(a) 24 (c) 10 d)6
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m Togefher we can make math easier

Choose the correct answer

The length of one side in the base of a regular hexagonal pyramid is 8 cm. and its height

is 10 cm. s then its volume equals

(2) 16013 (b) 160 (c)32013 (d) 96073

A- ‘& hLXujou /ﬁq/é 7:. C,‘t T
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m Togefher we can make math easier

Choose the correct answer

The length of one side in the base of a regular pentagonal pyramid is_L6 cm. and its height

is 12 cm. s then its volume = «-----eevvveees cm’

-_—

(a) 17618 (b) 2341.3 (c) 2000 (d) 1671.8

A. ,% Dot « = (((,) ~ Lo WY

v\36 e ——
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3
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Togefher we can make math easier

Choose the correct answer

The sum of all edges in a triangular regular faces pyramid equals 18 cm.
s then its height =

(a)ZVg
eoVe QJOC s \8 '.G
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m Togefher we can make math easier

Choose the correct answer
The ratio between the lateral area and the total surface area of a triangular regular faces

pyramid is

(a)3:4 (c)1:3

LSA 3 focs

TsA 4 fags

r
-

2
q
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m Togefher we can make math easier

Choose the correct anse\{v‘%t; Ns 4 < '[’.‘\-J

The length of the edge of a triangular regular faces pyramid is 10 cm » then its lateral area
S—

(b) 5013 (c)2543 ) 75y3

/.SA- @x A .% N

3 x[ XXz K S 663
v
3 X _ix\eX\o)\_i

Q
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m Togefher we can make math easier

Choose the correct answer

If the sum of all edges of a triangular regular faces pyramid equals 18 cm » then its total
T— ——
surface area = - —

2742 3 2742
(a) 2/_ ) ©) 18 )93

2
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m Togefher we can make math easier

Choose the correct answer

The total surface area of a triangular regular faces equals 9% cm? then the length of its

edge equals

(a)3 (c)27 (d)2
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m Toge#;er we can make math easier
Choose the correct answer A- % vuse = 5% ;o"'z (’é\ ()

The volume of a triangular regular faces pyramid that has edge of length 12 cm.

(b) 14413 (c) 10843 (d) 14442
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m Togefher we can make math easier

Choose the correct answer

In a triangular regular faces pyramid s the ratio between its height : the length of its edge
©6:2 @ye:3
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Choose the correct answer

A regular triangular pyramid » its base length 6 cm.
and its height length 12 cm. , then its volume =

(@) 1293 (b) 2413 (c) 3693
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m Togefher we can make math easier

Choose the correct answer

A regular triangular pyramid its base length 24 cm. and its height 4 cm. » then the length
of its slant height = _—

(a) 12 (c) 8 (d)7

Sh.
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m Togefher we can make math easier

Choose the correct answer

The total surface area of a right circular cone which its drawer length equal the

diameter length of its base is

(a) 47U 12 (b)3 7’ e (d)4mr
TSA:TH‘@*. T QX
=97\l T}-Jcﬂ_\ ol
= 3T
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Togefher we can make math easier

Choose the correct answer
In the opposite figure :

The height of a right circular cone = 24 cm. »
and the length of its drawer = 26 cm.
s then the area of its base =

(a)20 T
(c) 500 TT (d) 100 7T

2 2
Tz 26 2y* _ \oo

A= Ty =007

Q
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m Togefher we can make math easier

Choose the correct answer

In the opposite figure :

The lateral area of a right circular

(b) 50 TT
(d) 100 7T

LS‘AsTrV«Q':T\ﬁ‘S)K\O
= D0 Tl
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m Togefher we can make math easier

Choose the correct answer

In a right circular cone » the radius length of its base = 3 cm. and its height = 4 cm. » then
2

its lateral area = cm?

(a) 20 7T (b)157 ()12 T d)77

L,S,A: T‘.')\( 7\Q, l‘
- 7’\1\3%5
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m Togefher we can make math easier

Choose the correct answer

The height of a right circular cone is 8 cm. and the area of its base is 36 7T cm? » then its lateral
2 S

(b) 64 7T ) 60 7T (d) 54 7T
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m Togefher we can make math easier

Choose the correct answer

The radijus of the base in a right circular cone is 15 cm. and its lateral area = 375 7T cm?
i -——_—
s then its height =

(a) 10 (c)20 (d) 25

l.S A - (ﬂ FEST

5 7< L - 335 7
3?5
s

(’} - \]9.6"-\91',. Q0 -

_‘2,5
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m Togefher we can make math easier

Choose the correct answer <z b~—o

If the length of the diameter of the base of a right circular cone is 12 cm. and its height

8 cm. » then its volume equal

(a) 48 7T (b) 36 7T (c)327 (d)9%6 ™

(?o'g Coltcs é\-—nft \H

- L xTih6 x3
3 3

5Q6“ P
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m Togefher we can make math easier

Choose the correct answer
The volume of a cone if the circumference of its base circle is 44 cm. and its height Im

cm3.(JE=2—72)

(b) 105 (c) 110 (d) 770

C.-2Ty =Ly

Wy _uy
T

2. (:?w

&

Q
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m Togefher we can make math easier

Choose the correct answer =% =\1
The volume of a right circular cylinder is 36 7T cm? » then the volume of the cone sharing
3

the base and the height with the cylinder =
(a) 12TT (b) 18 7T ()24 T (d)36 T

.4 O \indere TV '\

O’-" Cone = é '“Ylh

Cotne :\g Cy\~
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m Togefher we can make math easier

Choose the correct answer

The ratio between the volume of a regular quadrilateral pyramid and the volume of

the smallest circular cone contains the pyramid equals

(@) 3: 7 (b)4: 7% fe}2: W

u- P %@x%
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m Togefher we can make math easier

Choose the correctanswer |.S.[A Coue "“TQ; 2=l UEEE

The opposite figure represents a right cone net form from
a circular sector whose area is 20 JT cm? »
T
the length of its arc ACB = 8 JT cm.
» then the height of the solid = - .
(d) 3 / ( b) 2 .

QF:%
= K\

-
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Togefher we can make math easier

Choose the correct answer

The opposite net describes a solid

its volume = «+ceeveeuen cms

()25 T (b) 50 IT
(c)75TT (d) 100 TT

T H - %K'ﬂ X25 X \2
3

= (OO -Z—l[. [

g
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m Togefher we can make math easier

Choose the correct answer

The volume of the cylinder

Cylinder and cone have same base and height » then
the volume of the cone

\ & 1 3

{ T H
éﬂ?&
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m Togefher we can make math easier
Choose the correct answer Oj}]jj)x )"’

ABC is a right-angled triangle at B in which AB =3 cm. s BC =4 cm. » then the volume
of the solid generated by revolving A ABC a complete revolution around its axis BC

(b) 18 7T (c)I5TT (d) 12 7T

| G- L qu A
l:5—

o xR0

g
&
o i

T Mr Michael Gamil 9 | 1 0122 13 15 981


Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil




m Togefher we can make math easier

Choose the correct answer
The centre of the circle whose equation : (X + 2)* + y2 +2y=0is

(@) (2,2) (b)(-=25-1) (c)(25-1)

X sUx Y + :)2\2*3 =0

2 2
Z 13 cUxr 2y t U =0

M:L-Q,—\)
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m Togefher we can make math easier

Choose the correct answer
The diameter length of the circle : 4 X% +4 y> + 16 X - 8 y—-16=0
length unit.

(b) 6 (c) 12 (d) 24

Q
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m Togefher we can make math easier

Choose the correct answer (1-

If the equation of a circle is : (X + l)2 +(y+ 3)2 =9 , then the area of the circle is

(a)JT (b)3 7T (c)6 7T dom

ﬁcﬁr(t’ ﬂﬁq\ = q_ T
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m Togefher we can make math easier

T v *
Choose the correct answer X<\ =¥

The area of the circle whose equation is : X% + y2 =JUis square units.
-—

(a) T (b) 2 TT (c) T2 (d) i3

A o Cicle - n@

T

TUxT =1\
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m Togefher we can make math easier

Choose the correct answer
The height of a right circular cone is 6 length units and the equation of its circular base is :

X 4 y2 = 64 in the X y-plane » then the volume of the cone = cubic units.

(a) 96 T (b) 128 7T (q@ﬂ: (d)6‘3‘—0n

¥
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m Togefher we can make math easier

Choose the correct answer "

If the equation : 2 X2 + a y? + bé y — 8 =0 represents a circle
. T :
» then its area = [\ ¥ sqifare unit.

(a)2 7T (b)4 T (c) 64 TT

a.:‘b; szg

2 7/1‘\' z‘d» = 8
X = Yo
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m Togefher we can make math easier

Choose the correct answer / C-MS*

If the equation of a circle passes through the origin is :
2
ax +21 +4X+(Mb+2)Xy-8y+c—2=0sthena+b+2c=

(a) 2 (b)-2 (c)4 (d)8

TQSQ- '\'(Z- 0 C-1=9

o (\g CQ:'?:
O 0 2C =2/+inﬂmu)-u

Q
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Togefher we can make math easier
Choose the correct answer /7

The circle with the equation : 2 Xp;y — 50 =0 has circumference = -+-+--ooe length unit.

¥ X
(a)5TT (b) 10 7T (c)157T (d)25 7T

o [x43)
T -~
XAy - 25
R N
cCuwe = Q—-ﬂ-(z 2 KM 1\5

= \O-r\

Q
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m Togefher we can make math easier

Choose the correct answer

X
f(xX y 12)| y |= s represents a circle with circumference
-3

length unit.
(b) 12 7T ()14 T (d) 16 7T

2 P ‘ :
X+xYy =36 =0

- <
Z2 +Y =36 =~ =6 L.w
CWC. 22 T( = 2% KE=\2T

Q
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m Togefher we can make math easier

Choose the correct answer
The point which lies on the circle : (X — 2)? + y ? = 13 from the following is
(a) (2 53) b)(B s-2) (©)(25) (d) @4 53)

2, 14G 58 uxag

Q
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m Togefher we can make math easier

Choose the correct answer

The equation of the circle whose center is the point (— 3 s —4) and passes through
the point (-3 50) is

@) (X+3)°+(y+4)*=16 (b) (X+3)*+(y+4°=9

(©) (X=3)*+(y-4)*=16 (d) (X=-3+(y-4*=9

C = {3434 L)' 2 |

(x-dY € (4-M) =X
(= «3) "4 (3xu)y = \6
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m Togefher we can make math easier

Choose the correct answer

The general form of the circle in which AB is a diameter where A 253)sB(-4,9)

(8) X2+y?-4X-6y+18=0 (b) (X+4)?+(y-9)°%=72
©) X2+y?-2X+12y+19=0 @ X +v+2 X—12y+ 19=0

D ot NPETES TR (<Y
= 6 S— L.« A €
“ (25

r—%, ’
=, 22 (2,6)

)

@ . CJl"KL““"

' “"36“3 /

I
/

%y 3«2&@(%:\ xC=0
70 ‘\'3 ~ 2K "\%3 &(Q( =Q

-
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m Togefher we can make math easier

Choose the correct answer P

If X-axis intersects the circle whose equation : X + y 2 = 49 at the two points A and B
5 A
s then AB = length unit.

(a) 49 (b) 7 (c) 2 d) 14
g
2 =Uq
x=%1%
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m Togefher we can make math easier

Choose the correct answer

If the straight line : 3 X —4 y — 12 = 0 touches the circle (X + 3)* + (y = 1)*=r>
s then the circumference of the circle = length unit.

(a)20 7T (b)) 157 (c)10TT (d)571

C- JB(-S) -UuQ(1)-\2 \ m
Jq+t6 -

. .5 3x —uy-ess
2 =
C'.Ycr- gg‘r\( = \O T[

r. Michael Gami Y| V012273 75 987


Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil



Math in use By Mr Michael Gamil




m Togefher we can make math easier

Choose the correct answer
In the opposite figure : A 3X-4y+20=0
M is a circle » its equation : (X — 2)2 +(y+ 1)2 =16 B
MA L the straight line : 3 X -4y +20=0
s then AB =
(a) 2
(c) 6
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m Togefher we can make math easier

Choose the correct answer

Area of the square whose vertices lie on the circle : X%+ y> -4 X + 6 y+4=0
I square units.

(b) 9 (c) 12 (d) 18
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m Toge#;er we can make math easier

Choose the correct answer
ThetwocirclesC1 :X2+y2+4X—2y+ 1=0 C2:(X—5)2+(y_3)2=9 ..........

(a) distant. (b) touching externally.

(c) touching internally. (d) intersecting.

Q

W Michael Gamil S [} 0177 13 15 98
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Togefher we can make math easier

Choose the correct answer
In the opposite figure :
The equation of the circle :
(X-2)2+(y-3)2=25
sthen AB = covveeeerannns length unit.
(a) 8
(b) 6
(c) 4
(d5

Q
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m Togefher we can make math easier

Choose the correct answer

In the opposite figure : A

Thiequation of the circle : (X - 3)2 +(y+ 2)2 =25
s AB is a tangent to the circle M At A where B (-2 5 10)

B (-2,10)
101 . 3 f—— length unit

(a) 13 (b) 5 (c) 12
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m Togefher we can make math easier

Choose the correct answer

A cube of wax of edge length 10 cm. it was melted and transformed into a regular
quadrilateral pyramid of base length 10 cm. Find the height of the pyramid given that
10 % of the wax was lost during melting.

Q
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Togefher we can make math easier

Choose the correct answer

The opposite figure shows a coordinate
perpendicular plane. Calculate the volume of solid

generated when revolving triangle ABO one complete

revolution around the y-axis.
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